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BACHELOR’S DEGREE PROGRAMME 
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(Application Oriented Course) 

AMT-01 : TEACHING OF PRIMARY SCHOOL 

MATHEMATICS 

Time : 3 Hours     Maximum Marks : 100 

Weightage : 70% 

Note :  Question No. 1 is compulsory. Attempt any 

eight questions out of the remaining nine 

questions. Answers to 4 marks questions 

should not be more than 150 words. 
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1. (a) Using the resources available in a kitchen, 
give two distinct mathematical concepts, 
that can be taught to a 5-year-old child. 
Justify your choice of concepts. 4 

(b) What does ‘zero’ mean ? Explain this with 
the help of an example. Also, outline an 
activity to introduce young learners to 
‘zero’.  4  

(c) Give an activity to introduce the concept of 
a ‘variable’ to children of class 6. Also give 
an outdoor activity to assess the 
effectiveness of the first activity. 4 

(d) Arrange the following numbers in 
descending order : 

1.1, –1.01, 1.001, 0.101 
Explain the process you used in completing 
the task above. 4 

(e) What is ‘axis of symmetry’ ? Does every 
planar figure have an axis of symmetry ? 
Give reasons for your answer.  
Also give an example, with justification, of 
a triangle with only one axis of symmetry.  

4 

2. Give five guidelines for creating a unit plan. 
Further, illustrate these guidelines in the 
context of teaching the concept of ‘angle’. 10 
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3. (a) Explain the following terms through an 

example of each : 

(i) One-to-one correspondence 
(ii) Seriation 
Further, explain why these concepts are 
considered to be pre-number concepts. 8 

(b) Give an example of an axiom in 

Mathematics. 2 

4. (a) What is ‘Place Value’ ? Describe a detailed 

activity to introduce this concept to young 

learners. The activity must involve at least 

two different bases. 5 

(b) What is ‘negative number’ ? Give two 

difficulties children of class 5 usually face 

in understanding this concept. Further, 

suggest a game to help these children 

overcome any one of these difficulties. 5  

5. (a) “Language plays a significant role in the 

teaching-learning process of Mathematics.” 

Justify this statement. Your justification 

should use an example related to learning 

multiplication of fractions. 4 
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(b) Give the pre-requisite stages required 
before a learner is introduced to a symbol. 
Illustrate these stages in the context of 
learning to represent a fraction. 6 

6. (a) Pictorially represent the following : 4 

(i) 0.6 + 0.075 + 0.10 

(ii) 2
3

 of 18 balls. 

(b) Explain the difference between an open 

figure and a closed figure. Also give an 

example of each. 3 

(c) Explain the movement from concrete to 

abstract. Illustrate this in the context of 

learning to measure length. 3 

7. (a) Explain the concept of ‘equivalent fraction’. 

Also give two fractions equivalent to 1
4

. 2 

(b) What is ‘estimation’ ? Why is it necessary 

for each child to develop this ability ? 

Further, give a real-life situation in which 

a child would be required to use this ability 
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while subtracting integers. Justify your 

choice of situation. 5 

(c) Surekha says that (–12) + 7 = 19. Arif says 

that Surekha’s statement is wrong. Who do 

you agree with and why ? 3 

8. (a) Prove or disprove the statement that ‘the 

sum of two odd numbers is not odd’. 4 

(b) What is the difference between ‘capacity’ 

and ‘volume’ ? Also give an example to 

illustrate this difference. 3 

(c) Give two errors students commonly make 

while dealing with time. Outline an 

activity to help them rectify any one of 

these errors. 3 

9. Which of the following statements are true, and 
which are false ? Give reasons for your answer :  

      10 
(i) Each mathematical problem has a unique 

solution. 
(ii) A square is a rectangle. 
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(iii) The result of dividing one number by 
another is a smaller number. 

(iv) Mathematical reasoning only requires 
movement from particular to general. 

(v) Mathematical knowledge is hierarchically 
constructed. 

10. List the five categories of concrete contexts for 
multiplication of numbers. 

Further, give a word problem in each category 
related to the daily life of a rural child. 10 
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Lukrd mikf/ dk;ZØe (ch- Mh- ih-)@izkbejh 

fo|ky; xf.kr ds vè;kiu esa izek.k&i=k 

(lh- Vh- ih- ,e-) 

l=kkar ijh{kk 

twu] 2021 

(O;ogkjewyd ikB~;Øe) 

,-,e-Vh--01 % izkbejh Ldwyh xf.kr fl[kkus ds rjhds 

le; % 3 ?k.Vs     vf/dre vad % 100 

dqy dk % 70% 

uksV % iz'u la[;k 1 djuk vfuok;Z gSA 'ks"k ukS iz'uksa esa 

ls fdUgha vkB iz'uksa ds mÙkj nhft,A 4 vad okys 

iz'uksa ds mÙkj 150 'kCnksa ls vf/d ugha gkssus 

pkfg,A  

1- (d)  jlksbZ esa miyC/ lalk/uksa dk bLrseky djrs 

gq,] nks ,slh vyx&vyx xf.krh; vo/kj.kk,¡ 

crkb,] tks ik¡p o"khZ; cPph dks fl[kk;h tk 

ldrh gSaA bu vo/kj.kkvksa ds p;u dk 

vkSfpR; crkb,A 4 
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([k)  ^'kwU;* dk D;k vFkZ gS \ ,d mnkgj.k dh 

lgk;rk ls bls Li"V dhft,A NksVs cPpksa dks 

^'kwU;* ls ifjfpr djkus dh ,d xfrfof/ dh 

:ijs[kk Hkh izLrqr dhft,A 4 

(x)  d{kk 6 ds cPpksa dks ^pj* dh ladYiuk ls 

ifjfpr djkus ds fy, ,d xfrfof/ crkb,A 

igyh xfrfof/ dh dkjxjrk dk vkdyu djus 

ds fy, ,d eSnkuh xfrfof/ Hkh crkb,A 4 

 (?k) fuEufyf[kr la[;kvksa dks vojksgh Øe esa 

fyf[k, % 

      1.1, –1.01, 1.001, 0.101 
 bl dk;Z dks djus ds fy, vkius ftl izfØ;k 

dk iz;ksx fd;k mldk o.kZu dhft,A 

(Ä)  ^lefefr&v{k* D;k gS \ D;k izR;sd lery 

vkd`fr esa lefefr&v{k gksrk gS \ vius mÙkj 

ds dkj.k crkb,A  

  dsoy ,d lefefr&v{k okys f=kHkqt dk iqf"V 

lfgr mnkgj.k Hkh nhft,A 4 

2- bdkbZ dh ;kstuk cukus ds fy, ik¡p ekxZn'khZ funsZ'k 

crkb,A blds vkxs] ^dks.k* dh ladYiuk fl[kkus ds 

lUnHkZ esa] bu ekxZn'khZ funsZ'kksa dks mnkgj.k lfgr Li"V 

dhft,A   10 
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3- (d)  fuEufyf[kr izR;sd dks ,d mnkgj.k ds ekè;e 

ls Li"V dhft, %  

 (i) ,dSdh laxfr 

 (ii) vuqØe esa j[kuk 

 blds vkxs] crkb, fd bu vo/kj.kkvksa dks 

la[;k&iwoZ vo/kj.kk,¡ D;ksa ekuk tkrk gSA 8 

([k)  xf.kr esa vfHkx`ghr dk ,d mnkgj.k nhft,A 2 

4- (d)  ^LFkkuh; eku* D;k gS \ NksVs cPpksa dks bl 

vo/kj.kk ls ifjfpr djkus dh ,d foLr`r 

xfrfof/ dk o.kZu dhft,A bl xfrfof/ esa 

de&ls&de nks fHkUu&fHkUu vk/kj (base) 

vo'; 'kkfey gksus pkfg,A 5 

([k)  ^½.kkRed la[;k* D;k gS \ bl vo/kj.kk dks 

le>us esa d{kk 5 ds cPps vDlj ftu 

dfBukb;ksa dk lkeuk djrs gSa] muesa ls dksbZ nks 

crkb,A blds vkxs] buesa ls fdlh ,d dfBukbZ 

dks nwj djus esa] cPpksa dh enn ds fy, dksbZ 

,d [ksy lq>kb,A 5 
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5- (d)  ¶xf.kr lh[kus&fl[kkus dh izfØ;k esa Hkk"kk 

egÙoiw.kZ Hkwfedk fuHkkrh gSA¸ bl dFku dh 

iqf"V dhft,A vkidh iqf"V esa fHkUuksa dk xq.kk 

lh[kus ls lEcfU/r ,d mnkgj.k vo'; gksuk 

pkfg,A 4 

([k)  fo|kFkhZ dks izrhd ls ifjfpr djkus ls igys 

vko';d iwokZisf{kr voLFkk,¡ crkb,A fHkUu dks 

fu:fir djus ds lUnHkZ esa bu voLFkkvksa dks 

mnkgj.k lfgr Li"V dhft,A 6 

6- (d)  fuEufyf[kr dks fp=kkRed :i esa fu:fir 

dhft, % 4 

 (i)  0.6 + 0.075 + 0.10 

 (ii)  18 xsanksa dk 2
3

 

([k)  [kqyh vkd`fr vkSj can vkd`fr ds chp vUrj 

crkb,A izR;sd dk ,d mnkgj.k Hkh nhft,A 3 

(x)  ^ewrZ ls vewrZ dh vksj c<+uk* dks Li"V 

dhft,A yEckbZ ekiuk lh[kus ds lUnHkZ esa 

mnkgj.k nsrs gq, bldks Li"V dhft,A 3 
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7- (d)  ^rqY; fHkUu* dh vo/kj.kk dks Li"V dhft,A 

1
4
 ds rqY; nks fHkUusa Hkh crkb,A 2 

([k)  ^vanktk yxkuk* D;k gS \ izR;sd cPph dh bl 

;ksX;rk dks fodflr djuk D;ksa t:jh gSA 

jkstejkZ ds thou ls ,d ,slh fLFkfr crkb, 

ftlesa cPph }kjk iw.kk±d dh ?kVk djrs gq, bl 

;ksX;rk dk iz;ksx djus dh t:jr iM+rh gksA 

vkius tks fLFkfr pquh] mldh iqf"V dhft,A 5 

(x)  lqjs[kk dk dguk gS fd (–12) + 7 = 19 tcfd 

vkfjiQ dgrk gS lqjs[kk dk ;g dFku xyr gSA 

vki bu nksuksa esa ls fdlls lger gSa vkSj D;ksa \  

     3 

8- (d)  ^fdUgha nks fo"ke la[;kvksa dk ;ksx fo"ke ugha 

gksrkA* bl dFku dks fl¼ ;k vfl¼ dhft,A 

4 
([k)  ^/kfjrk* vkSj ^vk;ru* esa D;k vUrj gS \ bl 

vUrj dks Li"V djus ds fy, ,d mnkgj.k Hkh 

nhft,A 3 

(x)  ^le;* dh vo/kj.kk ds lkFk dke djrs gq, 

fo|kFkhZ vkerkSj ij tks =kqfV;k¡@xyfr;k¡ djrs gSa] 
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muesa ls dksbZ nks crkb,A buesa ls fdlh ,d 

xyrh dks lq/kjus esa fo|kfFkZ;ksa dh enn ds 

fy, ,d xfrfof/ dh :ijs[kk izLrqr dhft,A 

3 

9- fuEufyf[kr esa ls dkSu&ls dFku lR; gSa vkSj dkSu&ls 

vlR; \ vius mÙkjksa ds dkj.k crkb, % 

(i)  izR;sd xf.krh; leL;k dk dsoy ,d gy gksrk 

gSA 

(ii)  izR;sd oxZ ,d vk;r gksrk gSA 

(iii)  ,d la[;k dks nwljh la[;k ls foHkkftr djus 

ij izkIr gksus okyh la[;k bu la[;kvksa ls NksVh 

gksrh gSA 

(iv)  xf.krh; rdZ ds fy, dsoy fof'k"V ls O;kid 

dh vksj c<+uk visf{kr gSA 

(v)  xf.krh; Kku lksikuØfed :i ls lajfpr gSA 

10- la[;kvksa dh xq.kk ds fy, Bksl lanHkks± dh ik¡p 

Jsf.k;ksa dks lwphc¼ dhft,A 

blds vkxs] izR;sd Js.kh dk ,d bckjrh loky nhft, 

tks xzkeh.k cPph dh jkstejkZ dh ftUnxh ls lEcfU/r 

gksA     10 
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